

VYRAGUS CONSTRUCTION

WITNESSES

(CONTRACTOR)

General

By:

SP

and

FRANCIS DAVE T. RAMIREZ

MSM-ONATION-N NHO

Division Manager A

3.

Republic of th OFFICE OF THE PRESIDENT NATIONAL IRRIGATION ADMINISTRATION REGIONAL OFFICE I (ILOCOS REGION) PANGASINAN IRRIGATION MANAGEMENT OFFICE



CONTRACT AGREEMENT

THIS AGREEMENT, made this <u>day of APR 0 8 2025</u> between the National Irrigation Administration - Pangasinan Irrigation Management Office, Urdaneta City, Pangasinan, represented herein by its Division Manager A, JOHN N. MOLANO, MSME (hereinafter called the "Entity"), and VYRAGUS CONSTRUCTION, 177 San Vicente East, Urdaneta City, Pangasinan represented herein by its General Manager, MUELVYN P. AGUSTIN (hereinafter called the "Contractor").

WHEREAS, the Entity is desirous that the Contractor executes the AGNO RIS (EGPIP-SOLAR CY 2025) located in MAPANDAN, PANGASINAN under Contract No. R1-PIMO-25-01-035 (hereinafter called the "Works"), and the Entity has accepted the Bid for the said project in the amount of FORTY-THREE MILLION SIX HUNDRED FIFTY-TWO THOUSAND NINE HUNDRED EIGHTY-FOUR AND 14/100 PESOS ONLY (PHP 43,652,984.14) by the Contractor for the execution and completion of such works and remedying of any defects therein.

NOW THIS AGREEMENT WITNESSETH AS FOLLOWS:

- In this Agreement, words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract hereinafter referred to.
- The following documents as required by the 2016 revised Implementing Rules and Regulations of Republic Act No. 9184 shall be deemed to form and be read and construed as part of this Agreement, viz.:
 - a. Philippine Bidding Documents (PBDs);
 - i. Drawings/Plans;
 - ii. Specifications;
 - iii. Bill of Quantities;
 - iv. General and Special Conditions of Contract;
 - v. Supplemental or Bid Bulletins, if any;
 - Winning bidder's bid, including the Eligibility requirements, Technical and Financial Proposals, and all other documents or statements submitted;

Bid form, including all the documents/statements contained in the Bidder's bidding envelopes, as annexes, and all other documents submitted (e.g., Bidder's response to request for clarifications on the bid), including corrections to the bid, if any, resulting from the Procuring Entity's bid evaluation;

- Performance Security;
- d. Notice of Award of Contract and the Bidder's conforme thereto; and

Brgy, Bayaoas, Urdaneta City, Pangasinan, Ilocon, Region, 2428 Philippines Telephone Number: (075) 632 2775 Email: r1 pangasinan-imo@nia.gov.ph • Website: www.nia.gov.ph • TIN: 000916415

c.

NATIONAL IRRIGATION

ADMINISTRATION

(NIA)

1





- e. Other contract documents that may be required by existing laws and/or the Procuring Entity concerned in the PBDs. Winning bidder agrees that additional contract documents or information prescribed by the GPPB that are subsequently required for submission after the contract execution, such as the Notice to Proceed, Variation Orders, and Warranty Security, shall likewise form part of the Contract.
- 4. In consideration for the sum of FORTY-THREE MILLION SIX HUNDRED FIFTY-TWO THOUSAND NINE HUNDRED EIGHTY-FOUR AND 14/100 PESOS ONLY (PHP 43,652,984.14) or such other sums as may be ascertained, VYRAGUS CONSTRUCTION agrees to execute and complete the project in accordance with its Bid.
- The National Irrigation Administration Pangasinan Irrigation Management Office agrees to pay the above-mentioned sum in accordance with the terms of the Bidding.

IN WITNESS whereof the parties thereto have caused this Agreement to be executed the day and year first before written.

PROCURING ENTITY: IOHN N. MOLANO, MSME Division Manager A

CONTRACTOR:

MUELVYN P. AGUSTIN General Manager VYRAGUS CONSTRUCTION

WITNESSES:

FRANCIS





Republic of the inlippines OFFICE OF THE PRESIDENT NATIONAL IRRIGATION ADMINISTRATION REGIONAL OFFICE I (ILOCOS REGION) PANGASINAN IRRIGATION MANAGEMENT OFFICE



SPECIAL CONDITIONS OF THE CONTRACT

Z	z			Lenie conditio				
LI0		GCC						
5	er () S	CLAUSE						
ISTRU	A N.E.	1.21	The PROCURING ENTITY is the NATIONAL IRRIGATION ADMINISTRATION, Pangasinan IMO, Urdaneta City, Pangasinan The PROCURING ENTITY'S REPRESENTATIVE is JOHN N. MOLANO, MSME, Division Manager A. The site is located at Mapandan, Pangasinan.					
S CON	MUERVYN	1.22						
AGU	MUE	1.24						
VYR	By:	1.27	The start date is upon the receipt of Notice to Proceed					
			The WORKS consist of the following:					
WITNESSES : VYR			ITEM NO.	DESCRIPTION	UNIT	QTY.	Unit Price (Php)	Amount (Php)
	12		I.	GENERAL REQUIREMENTS				
	1 gr		a.	Project Billboard/Sign Board (8ft x 8ft)	1.s.	1.00	7,910.86	7,910.80
	Né		b.	Temporary Works (Bodega), Mob. And Demob. Works	l.s.	1.00	201,299.04	201,299.04
	(教)		с.	Construction Safety and Health	l.s.	1.00	270,901.64	270,901.6
	14		II.	WELL DEVELOPMENT				.+
	3		a.	Geo-Resistivity (Multi-Electrode	Fest)			
5	D			a.1. Geo-Resistivity for 15HP	lot	3.00	241,033.72	723,101.10
SE	- 1		b.	Construction/Drilling of Deep We	41			
INES	EZ			b.1. Construction/Drilling of Deep Well for 15HP	lot	3.00	1,900,010.79	5,700,032.37
	R			III. SUPPLY, DELIVERY AND INSTALLATION OF SUBMERSIBLE PUMP				
>	MM			Supply, Delivery and Fabrication	of Materia	d		
	T.R.	1.30		a.1. Supply, Delivery and Fabrication for 15HP	lot	3.00	1,076,544.09	3,229,632.27
1	NH H			Installation				14
1	ZE			b.1. Installation for 15HP	lot	3.00	371,407.71	1,114,223.13
4	20			SUPPLY, DELIVERY AND INSTAL			ANEL	
	0			Supply, Delivery and Fabrication	of Materia	l.		
	FRANCIS DAVE T. RAMIREZ		-	a.1. Supply, Delivery and Fabrication for 15HP	lot	3.00	1,153,896.26	3,461,688.78
	_			Installation	10.2	10.00	000 000 000	
	JOHN N. MOLAND, MSME Division Manager A			b.1. Installation for 15HF	lot	3.00	398,094.20	1,194,282.60
				SOLAR INVERTER AND CONTRO	LLER			<u></u>
ATION 10N			a,	Supply and Delivery of Solar Inverter and Controller with Casing	lot	3.00	467,187.03	1,401,561.09
			1 12 1	Installation of Solar Inverter and Controller with Casing	lot	3.00	161,179.53	483,538.59
AT			VI.	STRUCTURAL WORKS				
ADMINISTRATION ADMINISTRATION (NIA)				Mounting Structure				
				a.1. Supply and Delivery of Mounting Structure				
				a.1.1. Supply and Delivery for 15HP	lot	3.00	1,878,945.69	5,636,837.07

Brgy. Bayaoas, Urdaneta City, Pangasinan, Ilocon Region, 2428 Philippines Telephone Number: (075) 632 2775 Email: r1.pangasinan-imo@nla.gov.ph • Website: www.Na.gov.ph • TIN: 000916415

3



Republic of th illippines OFFICE OF THE PRESIDENT NATIONAL IRRIGATION ADMINISTRATION REGIONAL OFFICE I (ILOCOS REGION) PANGASINAN IRRIGATION MANAGEMENT OFFICE





4

Brgy, Bayaoas, Urdaneta City, Pangasinan, iloon Region, 2428 Philippines Telephone Number: (075) 632 2775 Email: r1.pangasinan-imo@nia.gov.ph • Website: www.nia.gov.ph • TIN: 000916415



Republic of th dilippines OFFICE OF THE PRESIDENT ilippines NATIONAL IRRIGATION ADMINISTRATION REGIONAL OFFICE I (ILOCOS REGION) PANGASINAN IRRIGATION MANAGEMENT OFFICE



AB

Series Sar	Pang	asinan Irrigation Management Office	BACONC P
VYRAGUS CONSTRUCTION (CONFRACTOR) By: MUELYTNP. AGUSTIN General Manager	13	 The amount of the advance payment is fifteen percent (159) Contract Price, to be made as per herein schedule: a. First (1st) Installment, 7.5% of the Contract Price – upon su and acceptance by NIA of an irrevocable Standby Letter of commercial bank, a bank guarantee, or a surety bond, calla demand in accordance with Clause 39.2 and duly signed Construction Health Program approved by the DOLE. b. Second (2nd) Installment, 7.5% of the Contract Price – afte Contractor has fully mobilized the initial equipment and m required for the project as specified in this Bid Documents c. The advance payment of 15% of the Contract Price maybe Contractor can comply and submit all above-mentioned docu requirements. 	ubmission to Credit from able upon a Safety and or the nanpower o; and/or claim if the
4	14	Unassembled materials delivered on the site shall not be incl	luded for
up may		payment. The date hyperbick "as built" descripts are reacted in the	
R R	15.1	The date by which "as built" drawings are required is prior to submission of the Final Billing Claims.	o the
AF T	15.2	The amount to be withheld for failing to produce "as built" do the date required is 1% of the total contract amount.	rawings by
FRANCIS DAVE T. RAMIREZ	C.		
ADMINISTRATION (NIA) JOHN N. NIDI-MANO, M3ME Division Manager A			
yaoas, Urdaneta City, Panga	asinan, Iloo	Region, 2428 Philippines	0

NIA-PIMO-BAC-INT-Form24 Rev:04

Telephone Number: (075) 632 2775 Email: r1.pangasinan-imo@nia.gov.ph • Website: www.nia.gov.ph • TiN: 000916415 5



Republic of the Philippines OFFICE OF THE PRESIDENT NATIONAL IRRIGATION ADMINISTRATION REGIONAL OFFICE I (ILOCOS REGION) PANGASINAN IRRIGATION MANAGEMENT OFFICE



ACKNOWLEDGEMENT

REPUBLIC OF THE PHILIPPINES)

JOHN M. MOLANO, MSME Division Manager, A

MUELVÝN P. AGUSTIN General Manager VYRAGUS CONSTRUCTION

Valid Gov't I.D. No.	: 0067588
Issued on	:09/13/1993
Valid Until	:08/25/2027

Valid Gov't I.D	. No. :
lssued on	1
Valid Until	

known to me and to me known to be the same persons who executed and signed the foregoing instrument and who acknowledged to me that the same is their true and voluntary acts and deeds, and that of the agency/entity they respectively represent.

This instrument is a Contract Agreement for the AGNO RIS (EGPIP-SOLAR CY 2025) located in MAPANDAN, PANGASINAN under Contract No. R1-PIMO-25-01-035, consisting of Six (6) pages including this page where the acknowledgement is written. Pages 1, 3, 4, and 5 are signed on the left margin thereof and page 2 is signed on the corresponding spaces provided thereof by the Parties and their instrumental witnesses and sealed with Notarial Seal.

WITNESS MY HAND AND SEAL this	APR 0 8 2025	
, at URDANETAC	CHIY. PANT	
	Notary Public	
	Until	
Doc. No Page No Book No Series of		
rgy. Bayaoas, Urdaneta City, Pangasinan, flocos Region, 2428 Philippines elephone Number: (075) 632 2775 mail: r1.pangasinan-imo@nia.gov.ph • Website: www.nlatsov.ph • TIN: 000916415	5	